novotechnik

LS1 &5 fE Rk

ez RN EREE, NOVOPADMER A
B&MBAERKSE, TIEEERIX200 mm
RSO

& Fi NOVOPAD & £ R
1 1 2 S Pl e 00 2 DB S
o & 25 &5 & PCB 26 #l, N
S, MTHE#E. B
BRI A s B

TLAF 9 5 p 42 S 22
SCHE, FUVFRLAT i 8 e R
7). UL BE IR

P& Teach-In hEERIIE 5
AT 2P UURS A R R . FLIR
g XHEE S .

b £ fik X 1% R 2% 18 T 4
P, TS, B REFMES
ey S PERU R . R
MR T KRB RE, WHh
X I8 A 5 Te R i .

fill LS1 B & Tl 735

e A R AR A
(AT AERAT B HE— 5D
AIPRIEfR & s dh B, BIAE

AR S 5E83% )
AR ES, ARG

LEI=p

o [ERMAMI, BITKEAA 100 x 10° Kis3)

o Ahsitit¥EE, 18x 18 mm

o Wil S HER AT

o RIS T R BR R R AT I B I ) i g

o SM¥E%0.05% 5% 0.1% L

s DR s % BB

o MRS, mETIE £0.15% pA— p—

o FrEHL B RS S i B R, AISI03, SMEL M5x0.5

o i Teach-In ThfiE, LED AIIRFEB R P W SR, A )

o FilkTHE Ttk Wi e

° f}?ﬁm%gﬁﬁﬁ%ﬁfﬁ ) R T PCB # i) NOVOPAD Hi g J5 Bl
A B 3 4 M il ek, HBEHG

345 PVC Bl SE, 3x0.14mm?, K2 %

T 5 ASIC iy e 5 SMD




novotechnik

FRHER (2-45) W3k (23-31) FRUER (Z-45)
3 S| o ~ 3 o~
[«>] -~ [«>]
1 o ~ Tl o
1
T T <
DIN EN ISO 1207 . & DIN EN ISO 1207
M4x10 16 M4x10 16
HLE " HIE "
#% K 140 Ncm —_— %K 140 Nem -—_
M4 <
=
M4 < o £
< 0
£
w0 N
-~ N
8  —
S SW-10
R
T
23] -— -
= SW-10
| :
[2] w2l = : i
b 8 <
- 745
etk 2
— | |
2] & =
~
M5x0,5
N K
m
[ M5x0.5 | mskem
+0,3\
288" 288
40
40
O HHB% WL (==
#2101 #2202 EEM 33-56/-57/-58/-59/-60/-61
1A Lt ke P
i 4 [SR) A {55
£ 3 PRc) [Re) e




novotechnik

BEEN LSt LSt LSt LSt LSt LSt
0025 0050 0075 0100 0150 0200
BESH By
TAERE (Ro1B) 25 50 75 100 150 200 mm
EOOEET R < +01 <+0.15 %F.S.
AT MAL + 0.5 mm
S 0.1... 10 VDC (B ALk 55 Sk BILHL 470 kQ) fie /D St BLHL > 10 kQ
HL L B L B 10 ... 0.1 VDC (BRI # 73R BILHL 470 kQ) e/ MAZRBILAL > 10 kQ
4 .. 20 mA (fit#k < 500Q)
20 ... 4 mA (i3 < 500Q)
VL 1 £ P B 120 Q
i A% SRS PR A 5 K BOVDCHL FE 55 e i S A9 (kA R 1)
i H R R > 950; IKHELR > 50 Hz
E®1:3 BB <10mV, i< 3mV mv
MEBBER <5 mV, dliH<2mV mv
FEER <16 nA, Wi<5uA HA
R <8 pA, MiH<3 nA LA
TARLE 16... 30 VDC
TAER R ) ek 10 % Vss
ZEAETHE <1 W
i R <50 ppm/K
LR <40 (KA) VDC
kB, S Il LR AR A Up 10 Unnax VDC
#u B (500 VDC) >10 MQ
WS
ShseteiE (RFA) 63 88 113 138 188 238 £ 1 mm
HFFRE (RSFB) 30 55 80 105 155 205 +1.5mm
N
Hr g 140 160 170 190 220 260 g
AT I 86 107 132 150 190 230 g
LAEZ Ty (RS- F51) <03 N
R TR M 1 mm A%, £ 2.5° SR
SESRET I B K SLVF L 140 Nem
TS
TART RETE Wiz -40 ... +85 C
Mg -30 ... +100 C
AR TS 0... 95 (i ¥E) %R.H.
Biohidibrdk DIN IEC 100 (11 ms) (¥il7) g
BBk DIN IEC 20 (10 ... 2000 Hz, Arex=0.75 mm)
Blidrs % % IP 40 DIN EN 60529
e R TAE Mg 5 m/s
e K AN B 5 g
H iy HUbk A /100 Mio; HL ¢ 175 000/ at RT w
i R CE-#RE
DR G bz RFIE 5 5EN 55011, class B
P AR ESD EN 61000-4-2

iEHHHIHE EN 61000-4-3
BiiREN 61000-4-4
RF& 1k G4k EN 61000-4-6




novotechnik

29,3
|
A\
o g B
@10 @10
EEM 33-56/-58/-60 EEM 33-57/-59/-61
1T A& 13t AR RN
4: B
EEHHESED
1R
2: Wifidm i
BIEREHHED 41_
1:0VDC ... 10 VDC (i) *
2:10VDC ... 0 VDC (5 #i i)
3:0VDC ... 10 VDC (fif i %)
4:10VDC ... 0 VDC (fiE ki %)
BIERRHHED 42
1.4 mA ... 20 mA (i) *
2:20mA ... 4 mA (EHiBist)
3:4mA ... 20 mA (I HikEs)
4:20 MA ... 4 mA (IEHBE )
HSERE
101: 3EFM8x 1B, Al 4t
202: NTHRfER LA, il
IS WSH i 0 2 0 0 0o 0 1 11 1 0 1
#71 M
001: & 25 Lt hr AT
TEERETERE
HrifE R E0025mm % 0200mm
) MRS
TENREE AT
2 A Z-45 AP, 4 A4 MAxA10 BBET 44 Z3-31 BEF (& 44 MAXT0 WRET )
1 AERER Fe g 059010
HRYEZE K AT E il 7= f

AR R, BARERS
betm: Ak m gk i )7 5K

34 M8x1 B Mk, 4F PUR Bl 48, 3 x 0.25mm?
%15, EEM 33-56, 2 KHL4i,
%15, EEM 33-58, 5 KHL4i,
5. EEM 33-60, 10 KAL4i;

3% M8x1 ANk, 4 PUR Bl 48, 3 x 0.25mm?
5. EEM 33-57, 2 KHL4G,
%15, EEM 33-59, 5 KHL4i,
. EEM 33-61, 10 KA,

WY, AT
4





